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MI8&t (20154)

{8.1~8.24}

8.2 9 =30°, P=150N, W =1200N
p, = 0.35, p, = 0.25

=035 N - Wcosf - P sind =0

= N = W cosf + P sinf
= (1,200 N) co0s30° + (150 N) sin30°
= 1114.2 N

Foa = 1y NV =1(0.35) (1114.2 N) = 390.0 N

NEF, =05 F+ Wsind - Pcosf =0
= F=- Wsing + P cosf
= —(1,200 N) sin30° + (150 N) cos30° = -470.1 N

|FI > Fo = B7Fs = 334 obd.

F<0O = wpE= a3 = vneA ez

F =y, N =1(0.25) (1114.2 N) = 2785 N = F =279 N ~30.0°
<R 2>
ZAXF, =03 N - Wcosf - P sinfd =0

= N = W cosf + P sinf
= (1,200 N) co0s30° + (150 N) sin30°
= 1114.2 N

Fo. = 1y NV =1(0.35) (1114.2 N) = 390.0 N

NEF, =05 -F+ Wsinf - P cosf =0
= F = W sind - P cosé
= (1,200 N) sin30° - (150 N) co0s30° = 470.1 N
lF| > F, = =7Fs =  BE4H obd.
F>0 = vz adg oty = v dezh
F = N=1(0.25 (11142 N) = 2785 N = F =279 N ~30.0°



8.12

W, =20 N, W, =30N, g =0.15

=4 4

7ZF, =0; N - W, cosf =0
= N, = W, cos#
Fl = My Nl = M I/Vl cost

NZF, =0; T- W sing - F, =0

= T = W, sinf + u, W, cosf

ZAXF, =035 Ny, - N, - W, cosf =0
= N, = N, + W, cosf

= W, cosf + W, cosé

\NF, =0; T+ F, + F, -
= T = W,snd - F, - F

= W, sinf - p, W; cosé

- p, (W, + W) cosd

Wi sinf + p, Wy cosf = W, siné

= (W, = W) sinf = p, 3W;+ W,) cosh
(0.15)[3(20 N)+ (30 N)] _ 1.35

1y (3 W) + W)

W, sinf = 0

n

motion
0 «.__ impending

motion
_impending

T

- p, QW+ W,) cosh

= =
tané W, — W,

= # = tan '(1.35) = 53.47°

(30 N) — (20 N)

6 = 53.5°



8.17 W=480N, pu, =030, d=06m h=08m
(@ Fy = p, Ny Fy = p, Ny p w
1SF,=0; Ng+ Ng- W=0 l
= Ny+ Ny=W
>SF, =0; P-Fy- Fy=0 h
= P=Fy+ Fp=p, Ny +pNp

=p, (N, + Np)=p, W < | Fs
FA~a A
= (0.30) (480 N) = 144.0 N d
Hol A A eF=A] AE Na Ns
(M, =0 ; hP—g W+ d N, =0
h 1 0.8 1
= NA=—EP+ 5W=—0— (144.0 N) + 5(480N)=48.ON>O
FI Lo B P = =
(b) FA = O, FB = /ULSNB
_ . d _ _h 1
UZM; =05 hP+ o W-dN;=0 5> Np= TPt oW
>SF, =0: P -Fy=0
h 1
= P—/LSNB=P—/LS(EP+5VV)=O
1
= (1_Hs_)P_§HsW
> P = s — W = 03 —— (480 N) = 1200 N
2(1=py) 2[1-(0:3) 5]

HolxA] &4 HE
12F,=0: Ny+ Nyp- W=0

1 1

2
=%(480 N)—g—(120 N) =80 N >0 Sogo R A
(c) F, N, Fy=0
) d _h 1
->%F, =0; P -F, =0
h 1
= P - u,Ny _P_“'S(_EP+ 5W)=O
h 1
= (1+M53)P_2/“L9W
> P = al W= 0-3 - (480 N) = 51.4 N
2(1+ p,—) 21+ (0.3) —]
d 0.
HolA x| ge=A] HE
_ _h 1 0.8
Ny=-oP+ 5 W= 0—(514N)+ LusoNny =171 N >0
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